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Question Numbers : (1 to 20)



1. Data Sufficiency Ggrod DR

Note:

In questions numbered 1 to 20, a question is followed by data i the form of two statements
labelled as T and 11 You have to decide whether the data given in the statement is sufficient to
answer the questions. Using the data, make an appropriate choice from (1) to (4) as per the
following guidelines:

a) Mark choice (1) if the statement I alone is sufficient to answer the question,

b) Mark choice (2) if the statement IT alone 1s sufficient to answer the question.

¢) Mark choice (3) if the statements I and I together are sufficient fo answer the question but
netther statement alone 1s sufficient.

d) Mark choice (4) 1f both the statements I and II together are not sufficient to answer the
question and additional data is required.

AP

1 2008 20 36% 7y A P36 28 9A), oDt |, 1l € tooen fio Toth) PdTeD Bgrodor
2] WG, A Bgrodo EdARA), D PISTW P3)H AAPTTA) DS P
oTr I 8 D Z)gvﬁoa'a. & :Jg'dea.ﬁo 28 ArGr36S drgren &ddrfod (1) 00c (4) H6%

50 @00 2w A Jods dabod.

) 99)% H3rEdo ol 3o | argd R b azw (1)m fofosod.

b) )% dArEro adyoth® dido Il argd dread b e (2) m tboitod.

0) ©3)% dirrrio adyothh gadren I, | 588 dredang wotd’d ausbé woBe D00
wsdd D 2w (3) m HBocsod.

) 9% dArEr0 wdyodd pasTe 1, 1l $D Ere SO S B diedo BBAGo

oo 2 (4) ™ Hiodod.

Sub questions

Question Number : 1 Question Id : 5494704855 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Is the natural number ‘»n” a perfect square ?

Q72 Doy ‘N, w8 06 Qg SGA° ?

L 'n’ leaves remainder 2 when divided by 4.
"D 4 B erbotsr S8y B 2.

11. ‘n’ ends with zero.
‘n” oy 3 e908MRA).

Options :
1.9 1
2. % 2
3.%3

4. % 4

Question Number : 2 Question Id : 5494704856 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What is the length of the side AC in the isosceles triangle ABC?
2B Baozo ABC &° zoao AC TG dod ?

L /C =900

1. AB=10V2

Question Number : 3 Question Id : 5494704857 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

What is the selling price of the article A?
DY A A, ?jm&Sn &6 doed ?

L. Cost price of A 15 Rs.120.
A gy §@&) do 67.120.

I1. Discount on the marked price of A is Rs. 30,
A 0308, DESD Do D G 0td 6.30.

Options :
1. % 1
2. % 2
3.%3

4. 4

Question Number : 4 Question Id : 5494704858 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In a class of 60 students, each one plays either cricket or hockey. How many play
cricket only?
60 006 Aarjdoen v a8 B6rd & 29 28 dr 836 o S BT, Jodd od §585

SArda sloTd?

I 30 students play both the games.
30 208 DT[8ed Totdd BRI BETE.

II. 10 students play hockey only.
10 3006 derthen S AT BT,

Options :
1. % 1
2. %2

3.3



4. % 4

Question Number : 5 Question Id : 5494704859 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What 1s the total cost of 2 benches and 3 chairs?

2 Bowen 28050 3 £610 2o D0 dods ?

L. Cost of 2 benches 1s Rs. 600 more than the cost of 3 chairs.
3 535:}9.} &0 S‘T‘l 2 B‘Jozﬁu &6 d>.600 QE‘%Q‘J.

IL Cost of a chair 15 Rs.200 less than %rd of the cost of a bench.

2.8 Bot) G6S° g Sodo ST w8 DBy 656 67,200 8.

Options :

Question Number : 6 Question Id : 5494704860 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



3 3 3, 2
. s XY XY T HPX
What 1s the value of ‘ 5 > i

.1‘2.}

C 2 2
X 4+y x4+

2 3
x“y

aB0E). 2D doeh 7

IL x =2y

Options :
1. %1
2. % 2
3.%3

4.4 4

Question Number : 7 Question Id : 5494704861 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The speed of a boat in still water is 8 kmph. What distance can it travel in 20 minutes?
DOLE DNS® 28 DES Do 1o 8 8. . 20 DXL’ B HaFHe (1 ErEed?

. Theboat is moving down the stream.
88 DS DT B35° S 0B

II.  Speed of the current is 2 kmph.
Hair Bfo ot 2 8. .

Options :
1. % 1
2. %2

3.3



4. % 4

Question Number : 8 Question Id : 5494704862 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What is the remainder obtained when the integer N 1s divided by 60 ?
‘Qjﬁg"oﬁo N &0 60 @ Ao LA 30 Jodh ?

L N = (n-2)(n-1)n(n+1)(n+2), wheren > 1 is an integer.

N=(@-2)@0-Dn@+1)@n+2), agen > 1 a8 Jrgosin.

I  500<N<2500

Options :
1.9 1
2. % 2
3.%3

4. % 4

Question Number : 9 Question Id : 5494704863 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Two natural numbers are in the ratio 3 ; 7. What 1s their difference?
Cotd) Ra Vo(ew 3 : 7 D2y BE° T 0. &5 Tocdd o BSodod ?

L The product of numbers 1s 1344.

£3 “n}oa:))gv weio 1344,
o
I1. Both numbers are less than 100.

Boty Fooaaigw 100 So0t3 @SJE’;').

Options :

1.1



4. % 4

Question Number : 10 Question Id : 5494704864 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What 1s the g.c.dofm and n ?
m 308030 Ne K., Jodh ?

I m=2232°R - p=3711°

IL x>

42

Options:

Question Number : 11 Question Id : 5494704865 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What is the angle A in the following figure?

B
C A

0B D05’ E'to A Dodh?

L. C=I1207
IL B =87°

Options :
1. %1
2. % 2
3.3

4, % 4

Question Number : 12 Question Id : 5494704866 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What is the length of the train?
€3 0e0 JED) dodd ?

E It crosses a pole in 10 seconds.
08 2,8 Wozrd) 10 2EHS” Tendoed.

IL. It crosses a bridge of length 100 m in 15 seconds.
@& 100 . TED) o 208 JoBd 20 15 135&&36 eS8,

Options :



Question Number : 13 Question Id : 5494704867 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
What is the value of “x™?
X Q308 Qe doch?
I 2x—3y=4
IL.

_1‘2 +2y=-1

Options :

Question Number : 14 Question Id : 5494704868 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Is the set E mfinite?

A E e9doedir?

I E is a set of natural numbers.

E 958 2.8 2ira T—Gu&.ﬁéﬂ ~adEd.

IL. E is the set of prime divisorsof 1234567
123456?@&5&@@&@&?&:&3}3@5

Options :
1. %1
2.¥ 2

3.%3



4. % 4

Question Number : 15 Question Id : 5494704869 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What is the integral value of ‘x’?

X aS), QrTes VD odh?

L. Pa3x—3<18

IL. 6<3x—-3<27

Options :
1.9 1
2. % 2
3.%3

4. # 4

Question Number : 16 Question Id : 5494704870 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What is the slope of the line L.?

DOF0 L Tren Jdodd 7

L. L passes through the point (1.1).
Do (1.1) @rgoe L S'ddood.

IL. L makes an angle 45°with x —y=0.
x—1=0& L o3& 45° o BS2008.

Options :

1. %1



Question Number : 17 Question Id : 5494704871 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What is the ratio of 5x+3y:10x+2y?

QB 5X + 3y : 10X + 2y Jodh?

L Xiy=1:2

IL. x, y are real numbers.

X,V 0 TR Rodfen.

Options :
1.9 1
2. % 2
3.%3

4. % 4

Question Number : 18 Question Id : 5494704872 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Find the volume of the right pyramid?

Lot) 8 a00%), RV dod ?

L Base of the right pyramid is an equilateral triangle of side 4 cm.
&5 Vot OVE A, eETdo 4 0. . Foardy 532:: 28 DAETIT Q0.

II.  Height of the pyramid 15 § cm.
HDE ciog), Ao § R0. .ev.



Options :
1. %1
2. % 2
3.3

4. % 4

Question Number : 19 Question Id : 5494704873 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A ladder 15 placed agamst a wall. At what height above the ground does the ladder
touch the wall?
28 e 5}:3&:% DGR, Ede0 Aot dod IS’ D@;}é A ordadoed ?

L The base of the ladder 1s at a distance of 10 feet from the wall.
:)r.?j;)é g ertlo Ae 0d 10 e Grdes Sod.

II.  The ladder makes same angle with the wall and the floor.

&8 DD\ Zred S, HE S48 Sao SR008.

Options :

Question Number : 20 Question Id : 5494704874 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Is R an equivalence relation?
Rias 00 Mototo BYB0E?

L Rysarelation on real numbers, &, defined by (a.0) e Ry < 2+ab>0for all
abek

TR o 5D, 08 abe K 8 dowogo Rid (ah)eR ©2+ab>0 m
N0,

. Ruisasymmetric relation.
Ry 3"@.‘3 Rok)otia.

Options :
1.9 1
2. % 2
3.%3

4, % 4

Question Id : 5494704875 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Question Numbers : (21 to 25)



2. Problem Solving ReoaRg ek 6o
A: Sequences and Series  @dvgren Hoky Frwew
i) Analogies PArOgd

Note:

[n each of the following questions (from 21 to 25), a sequence of numbers o letters that follow a
defintte pattern 15 given. Each question has a blank space. This has to be filled by the correct
answer from the four given options to complete the sequence without breaking the pattern.

AP
S0t wdyd DA P3) (21 dod 25 $68) &ar T\ Dopged M) BLTW ™ w8 S0
dobird) FeRoayan. §8 o) 6 39D adyd T pdyo wod 9B B aTwD

J)mlt-‘o«') 9% NaDarAs Fotfo Sevridoee Hrlore.

Sub questions

Question Number : 21 Question Id : 5494704876 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

NiBR2E 6

Options :

196

1297
2. ¢



Question Number : 22 Question Id : 5494704877 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
AEF : BII :: : OUV

Options :

NOP
’] e

MPQ
2. %

NOQ
3. F

NQR
4, &

Question Number : 23 Question Id : 5494704878 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

2935 ¢ 13 32

Options :

8
1. #

10
2. %

12



[a—
hn

Question Number : 24 Question Id : 5494704879 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

®F : N@®R:: R@OV:F 7]

Options :

@
1. %

®
2. v

©)
3. #

()
4. %

Question Number : 25 Question Id : 5494704880 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
60° -+/3 |
Options :

45°



60°

2. %

30°
3. %

90°
4. %

Question Number : 26 Question Id : 5494704881 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Sequences and Series  : Odd thing out

o0garen e Fewen : A8TAA HBoche

Pick up the odd thing out in the following options and mark its number as your answer
for the question:

So6s BEyd aaasvvé‘ 6B hoc), &8 Vo & P & VAPTEIT Frabod.

Options :

CX
1. %

FU
2. %

AZ
3. %

DV



Question Number : 27 Question Id : 5494704882 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Sequences and Series  : Odd thing out
od0garen ooty Froew : HOTVAA Hloche

Pick up the odd thing out in the following options and mark its number as your answer
for the question;

$06 9y wys0d 280N thiod, 8 D[R & H#) H HErGFIOm Frabod.

Options :

Bar chart

&0 Qedo
1, %

Arithmetic Mean

905 ;3_){;’35:13:;
2.

Pie chart

R wedo
3_ W

Histogram

i P AT T
4. %

Question Number : 28 Question Id : 5494704883 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Sequences and Series  : Odd thing out
OEAre oo Faen : 20T o)

Pick up the odd thing out in the following options and mark 1ts number as your answet
for the question:

S0 9033 DDyTOS 26T Mord, &8 Vo[ 6 PF) H dAPEIOM Fraod.

Options :
DF
1. % 10
GH
5 % 15
3
3. %
z
4 50

Question Number : 29 Question Id : 5494704884 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Sequences and Series  : Odd thing out
e0gamen Bokn genen : VOB thBoche)

Pick up the odd thing out in the following options and mark 1ts number as your answer
for the question:

$068 90y DTS’ 8PN o, & Vof) & H3) B dAPEIM™ Fakod.



Options :

Mean
Sﬁjﬁﬁémo
1, %
Median
mc;ﬁ}gﬁﬂo
2. %
Mode
e TOYo
3. %
Standard deviation
SheSE AT EL TS
4, &

Question Number : 30 Question Id : 5494704885 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Sequences and Series  : Odd thing out
O EAren 8ok een : ATF0AA Hoct)

Pick up the odd thing out in the following options and mark its number as your answer
for the question:

Sots A a&asweﬂs 2608 thoc), &8 Do & H3) B DATCEDM Fabod.

Options:
Beas
DTS

1. %



Nanda devi

HolT Ba)
Chambal
3 % tHoeied
Narmada
a0 &
4, % e

Question Number : 31 Question Id : 5494704886 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Sequences and Series  : Missing Numbers/Terms
oD5Iren Hdan Fwen : Jahdrd) edvdod dare

Note: The following question follows a definite pattern. Observe the same and fill in

the blank with suitable answer.

AP Sots QDQ:J pe) w8 m&aé@a NADAFAY 8008, @ Kmﬁ.‘am&)lﬁmﬁ)o{}

280D HATTHS 9D Hrdocsod .
13,28.,49.76, . 148
Options :
89
1. %
99



109

Question Number : 32 Question Id : 5494704887 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Sequences and Series  : Missing Numbers/Terms
058P0 ot Fren : JaDrd) BB dore

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

Ars: Sods 'Qt:}ar'\‘) R w8 aﬂaé@é é')cﬁ)a&J‘R)l F8i008. K}Dbarbldmbua
2Baid Harcrded R Hrdociod |

1325 ;61 123,359, . 1021

Options :

604



Question Number : 33 Question Id : 5494704888 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Sequences and Series  : Missing Numbers/Terms
ogiren SHBakn Faen : JADEr) ©ddded dHare

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer,

aresd: o6 wy® P9) w8 PASD dabdrdy Fiped. e dabisrd) Hidod
BadMD dArrHed a9 yrBocied .

6.18.35,71, 143,

Options :

195
1. %

203
2. ®

221
3.¢

245
4, %

Question Number : 34 Question Id : 5494704889 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Sequences and Series  : Missing Numbers/Terms
E8re o Fen : JaHrd) Bddbod dare

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer,

AP G068 AN D) w8 PDVEWD Noardy FIod. & Jabirdyddow
2Baid darcrded R Hrdodiod .
1.5 14.50,55,

Options :

80

85

90

91

Question Number : 35 Question Id : 5494704890 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Sequences and Series  : Missing Numbers/Terms
oAren Doty Faen : JaDAr) BvGed dare

Note: The following question follows a definite pattern. Observe the same and fill m
the blank with suitable answer.

AP S0t auyd PF) w8 HSDD Jabdrdy FEWod. & AabArd) ddod)
280D HarorHed 9 Qrdoctod .

105. 115. 130, 150, 175,

Options:
190
1. %
195
2. %
200
3. %
205
4.

Question Number : 36 Question Id : 5494704891 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Sequences and Series  : Missing Numbers/Terms
egaren oty gaen : Aoy Bdbed Horen

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

arsd: S0t @y P3) w8 DAY JoDErdy FBiwed. ¢ ohisrd)Hidoed
20D HATEH0S 39D (rBocsod .

§.24,12.36.18,54,

Options :
108
1. %
162
2. %
27
3.¢
81
4, %

Question Number : 37 Question Id : 5494704892 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Sequences and Series  : Missing Numbers/Terms
edgiren ddoin ey : ATy Bdbod Hare

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

AP S8 aNy® DI w8 BIEDI JaHAr) FBW0B. & aHAF) Hdod)

20abth AArrH8 a9 SrBotsod .
64,512, 4096, , 262144
Options :
32766
1. %
32864
2. %
32768
3. ¢
32782
4. ®

Question Number : 38 Question Id : 5494704893 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Sequences and Series  : Missing Numbers/Terms
osiren Hbain g : Jabdrd) ebddod drew

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suvitable answer,

AP o D PF) w8 PYIWI AabArdy FOoB. 8 AT} HSdos)

2BARD HATTEHed 9D rBoctod .
101, 103,107,109, 27,131 137
Options :
113
1.¢
117
2. %
119
3. %
123
4, %

Question Number : 39 Question Id : 5494704894 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Sequences and Series  : Missing Numbers/Terms
oR58ren ddatn gawen : JaDAr) edvdod drrew

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

arsd: o6 @y H3) wf PGS Aovrd)y P, ¢ AaLEr) e
200D HAFEH0S 29 Qrboed .

1,9.36,100, 41 T84

Options :

121

144

169

Question Number : 40 Question Id : 5494704895 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Sequences and Series  : Missing Numbers/Terms
©ghren SHBa Frwew : AT BB Here

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

Arad: S8 mAND 0F) a8 PANEWI AoHEr) Fwod. ¢ aArd) Ao
200D pArTded a9 Hrbociod .

[0_0,1)1[3_1£}_{3£1NE,LD}
62 2 3727212 —

Options :

1. %
2 —1 "\,'rh:‘*
32 2

2. %
on J3 1
3 22

3. %
2% +3 =1
37272

4, &

Question Number : 41 Question Id : 5494704896 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Sequences and Series  : Missing Numbers/Terms
esAren Sbaty Fewen : AP edsod Heren

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer,

Arcd: ol YD PF) w8 PYIWN Jabardy FWod. & aAr) Hbow

28D DArRHS a9 Jrfociod .
4,3).(7.2),(10,4),(13,2), .(19.2)
Options :
(16 . 3)
1. %
(16.2)
2. F
(16.4)
3. %
(16 ,.5)
4.

Question Number : 42 Question Id : 5494704897 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Sequences and Series  : Missing Numbers/Terms
eRESre B0k Faew : ISP BB e

Note: The following question follows a definite pattern. Observe the same and fill n
the blank with suitable answer.

AP o8 Ay P3) w8 PVEDD dabdrd) FHRwed. & Jabard) Hddod)
2B pArCrH0S 39D HrBodod .

6.10.8.12,10. 14,

Options :

16
1. %

12
2. ¢

14
3. %

10
4. ®

Question Number : 43 Question Id : 5494704898 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Sequences and Series  : Missing Numbers/Terms
eR5Sre ot dren : JaErd) Bddbod Here

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer,

Arsd: o8 wyd P w8 DAY AaHard) FBRed. & AaLAR) Hidod)
28D HATTEHS 9D JFBocsod .

sum mm
9 14 30— 126 17
Options :
8
86
1. %
102
105
2. %
38
41
3. %
51
54
4.

Question Number : 44 Question Id : 5494704899 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Sequences and Series  : Missing Numbers/Terms
ghren Do Fraen : JHAr) edied dre

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

ardd: do8 dyd Py w8 PAODD obdrdy Fiped. & Aabrd)Hided
200 Dargrdod 3R Hrdodod .

2:3;5,10,18:33, 112,206,379

Options :

60

61

62

4, %

Question Number : 45 Question Id : 5494704900 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Sequences and Series  : Missing Numbers/Terms
©DSAren SHBoin FEwen : DAr) VDB Deren

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer,

AP ol QQ‘)RJ pe) o8 mﬂbé@&) NODATY 8008, « aomar::lnmaua

20D PArCrHed a9 Jrdeciod .
124,342 , . 2196 ,4912 , 6858
Options :
1328
1. %
1332
2. F
1330
3.¢
1334
4. %

Question Id : 5494704901 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Question Numbers : (46 to 48)



Problem Solving o 8:) o
B.Dafa Analysis ~ grod D3e
i) Table or Graph KJ%S dor ey
Note:

The following table gives wheat produced in thousands of tonnes in various countries in five years.
Use this data, answer questions from 46 o 48,

APA :
4 o b D2t5 ot oth dodiymod’ ey dobads Ao (3o oy d) ardiped. &

Serodo uErdomm 46 Roc) 48 368 o H3) 0% AAPETA0G.

Year 40—

— 007 | 2008 | 2009 | 2020 | 20l
India odotr 1 50 15 50 )
China g % 38 1 3 )
Indonesia molaaasr 40 38 ) 44 40
Brazil g2 1) 45 46 1 4l
Inpan 2% 50 52 1 16 1
Cambodia soeS"Godr 1 A0 36 38 39

Sub questions

Question Number : 46 Question Id : 5494704902 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The percentage increase in wheat production of China in the year 2021 when compared

t0 2019 1

2019 & 55%565‘..}33@ 2021 Rodydam0 &’ b &e:'l:j@!ﬁ* BT AT Bod DG

Tdo



Options :

30
1.

25
2. %

35
3. %

32
4, %

Question Number : 47 Question Id : 5494704903 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which country has minimum average of wheat production from 2017 to 20217

2017 00t 2021 368 Ao &@3@66 SRR R £9R &) BIA?

Options :
Indonesia
Dot BHhaiTr
1, %

Cambodia

seotS A o3
2.9

China

S
3. W



Japan
2IRD

Question Number : 48 Question Id : 5494704904 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The ratio of average wheat production of India and China from 2017 to 2021 15

2017 #%08) 2021 36 Rodasrr, B B70 HGo it &S EW S Jod?

Options :

245/199
1. #

246/199
2. ¥

246/197
3. %

245/196

4, %

Question Id : 5494704905 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Question Numbers : (49 to 51)



Problem Solving  Rdbieg 8ak) 6o

B. Data Analysis g0t J3an

ii) Bar diagram or Pie chart &8 i G - o
Note:

The following Pie charts shows the iformation pertaining to the vehicles which run on Petrol,
Diesel, CNG and battery in a city. Using this data, answer the questions from 49 to 51.

APA:
300 - Do 18 311608’ DE'S, dad, CNG ot erid errdom 343 PToL Howedodd

DAPTTR) od. 8 escrdore 49 Mol 51 365 Ko 2309 mwaasod.

CNG vehicles
CNG ardraren

Diesel vehicles ) e
486 T

Sub questions

Question Number : 49 Question Id : 5494704906 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The percentage of vehicles which run on battery is
e.r?geaé eSdolT HED Tirarw Todho



Options :

o |
a—
3
1. ¢
3
2. %
2
3. ®
4
G
D
4. %

Question Number : 50 Question Id : 5494704907 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The total number of vehicles run on battery s 3600. then the number of vehicles
which run on diesel 13

ar}géa& 308 dudo TTV “n:oaaﬁ 3600 eoond, A26 b TTY ﬁﬂ%)ﬁ

Options :

72000
1. #®

60000
2. %

54000



65000

Question Number : 51 Question Id : 5494704908 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the CNG vehicles are 5400 in number, then the number of petrol vehicles 1s

CNG esrbed e ":ooa:plg 5400 e900d, 'S &b TR ‘5309-"5

Options :

42000
1. %

45000
2. ¢

48000
3. %

54000
4. %

Question Id : 5494704909 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Question Numbers : (52 to 55)



Problem Solving  daarg H8:r 60
B. Data Analysis Bod e

iii) Venn diagram or Passage 38 wdo do p¥demo

Note:
In a locality consisting of 40 families, a survey 15 conducted on the subscription to various daily
news papers S . E . T which revealed the following information:

6 families subscribe to only S

3 families subscribe to S and E but not T

2 families subscribe to S and T but not E

7 families subscribe to only E

4 families subscribe to E and T but not S

8 famulies subscribe to only T

and only one family subscribe to all the three.

Using this mformation, answer the questions from 52 to 55.
AP
40 Sevorren o @ Ao Foded e A30d%w S, E o T o 580Ny doTroH
Hot08od) DST0F ‘:065 adsiroam DYED Dodren & eore E7e) o
S & rgid Soor §ad0R) 8 6 Henowren
S $80in E 05 o S0dr T H 5%3-0 Setnoeren 3
S dloin T 0% dooe $Hdr E H 5@3&) Hinoeren 2
E & argid doo §6808) 8 7 Heworren
E o8oin T o dooe 8thdr S & 5%.;;:) DHinoeren 4
T % argd doo £0d0d) 8 8 Htvorred S
Sordotdd ooe 86823 & Srgo 8 a8 Hewowo
& DArEdo Brdore 52 2006 55 H08F o H3) 0D BTG,

Sub questions
Question Number : 52 Question Id : 5494704910 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



How many families subscribe exactly to none of the papers?
B0 DSV’ BIS Wol® 0 Ltnoered EDNSorT ) ?

Options :
7
1. %
8
2. %
9
3.¢¥
10
4, %

Question Number : 53 Question Id : 5494704911 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The total number of families who subscribe to either E or T or to both but not to S 1s
E G T S0 & Golot)s ol £Codr S & ol S0 S008T Do)

Options :
19
1.¢
18
2. %

16



Question Number : 54 Question Id : 5494704912 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of families who subscribe to S is
S & thor sme:a.)aﬁ;l S8 0ET) ‘ri:cajé

Options :

10
1. #

11
2. #®

12
3. ¢

13
4, %

Question Number : 55 Question Id : 5494704913 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Number of families subscribing to S or T or both is
S O T o & GociotdS ol SEIBOR) Se0ETe Wodd]

Options :

1. #



16
2. %

24
3. %

19
4. %

Question Id : 5494704914 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Question Numbers : (56 to 60)
C: Coding and Decoding Problems ~ Sof &8asn &5 &of SRVIOY
i) CodePatterns &6 durarew
Note:

Each of the following questions used a different coding pattern, Identify the pattern and answer
the questions from 36 to 60.

AP:
& 808 9306 18], 3% 580 Sdofl HEBOTPAoT. & DEB H80) 56 Avod 60 36
$ d 381

28) 08 ddrERrdigod.

Sub questions

Question Number : 56 Question Id : 5494704915 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

If ‘OCTOBER 15 coded as ‘REBOTCO’ then what 1s the code for ‘RACECAR’
‘OCTOBER’ & ‘REBOTCOQ’ = & &2, RACECAR’ & §&

Options :

CARRACE

RACECAR

ACERCAR

CERACAR
4. ®

Question Number : 57 Question Id : 5494704916 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If ‘INDIGO’ 15 coded as 'RMWRTL", then the word that 15 coded as ‘KFIKOV”
‘INDIGO’ % RMWRTL' rr §& 2. ‘KFIKOV’ e §& Soheads éo

Options :

MAROON

PURPLE



VIOLET

SILVER
4. %

Question Number : 58 Question Id : 5494704917 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If ‘“SACHIN’ 1s coded as ‘OJIDBT’. then the code for ‘DHONI 1s
‘SACHIN’ 2 “OJIDBT’ r~ €& &3. ‘DHONTI & §&

Options :

JPOE]L
1. %

JOPEI
2. ®

JOPIE
3. ¢

JPOIE
4, %

Question Number : 59 Question Id : 5494704918 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Inacode ‘TANK' 1s written as ‘SZOL’ and ‘FRIEND' 1s written as ‘EQHFOE’. Then
the code for ‘RING” 1s
w8 86 & ‘TANK % ‘SZOL' & ‘FRIEND’ d ‘EQHFOE’ mar srabeddd.
oy RING' & §¢

Options :

QHOG
1. %

QHOH
2.

QHME
3. %

PHON
4, %

Question Number : 60 Question Id : 5494704919 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If ‘RANK" 1s coded as 18 1 14 11, then the possible number of letter strings obtained
when 21345 13
RANK' & & 20 18 1 14 11 wowd, 21345 &0 86 m $8A dodemd$ Fesjoahs

©50 oY 'J‘}"&:'»S

Options :

2



2

L

Question Id : 5494704920 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Question Numbers : (61 to 65)
C: Codingand Decoding Problems S cofi oot d8'dof didiyen
i) Different Codes ) §6 &
Note:

In a code, the months January to December are written as December, September, Apiil, October.
November, May. August, March, June. July, February and January, respectively. Use this
mformation to answer the questions from 61 to 65,

AP

w886 a8 2338 fod dRond 36% o 300 SAM dRon, Houd, Dhand, 86, ddous,
2, ey, dry, &0, 29, dudd Moty 2350 m . 61 0d 65 565 o 230 NPT

& DArEdo GOGPAoed.

Sub questions

Question Number : 61 Question Id : 5494704921 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Indian Republic day falls in the month of

WG (Seactod) BI S Ho DBy Do

Options:
August
e2(fA0

1. % =
December
(ARt Ao b

2.V
January
2320

3. %
February
250

4. %

Question Number : 62 Question Id : 5494704922 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In this code language the 4™ month of the vear is

& §& ordy &5° RoDB\6) 4 Do

Options :

May



April

De030e5
October
2952060
3. =
January
280
4. %

Question Number : 63 Question Id : 5494704923 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The teachers day is celebrated in the month of
&5"{;5“50:13 BISDo 2EORYDI v

Options :
March
Po b le!

1. % 2
September
~aoe)dd

2. ® =

August
e3riad

3. % =

June
2R



Question Number : 64 Question Id : 5494704924 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In the code language July comes after the month of

EC iy &° 2P DU & DV ST D0

Options:
June
2
1.4
May
o)
2. %
March
3 % SﬁJ"E‘!&
September
b;egomcb
4, %

Question Number : 65 Question Id : 5494704925 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The month coded as November
330226 T §& Bohedd 2o

Options :

1.4



May

2

June
2o

2_ W
February
2850

3. %
October
208’0t

4, % =

Question Number : 66 Question Id : 5494704926 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Date, Time and Arrangement Problems $8, ddvabo SH8ain ednbdse SRUNGY

If the first day of a month 1s a Saturday, then the date of the Monday that comes after
the second Sunday of the month 13
28 306" 2ee) 82 300 o0d, 8 D0’ ok 8BTCo SHTS AN TG0 T8
o

Options :

8



10

16

Question Number : 67 Question Id : 5494704927 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Date, Time and Arrangement Problems 38, Hdvabo LBt wHdE “:om“n}'sw
The angle between the two hands of a clock when the time shows 1s 12 minutes past

50’clock

2300500 5 flobit) BETS 12 AATVANHYE AEairdo 8 Both 50 Socsf Srao

Options :

78°
1. %

80°
2. ®

84°
3.¢

86°
4, %

Question Number : 68 Question Id : 5494704928 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Date, Time and Arrangement Problems 36, Hdvado Dok wAdse "n)m*‘n},sm

The time between 7pm and 8 pm at which the angle between the hands of the clock be
180°1s
R00k0 7 pm bk 8 pm gy fiasrdo &' Bocdy AR Svo Eta0 180° 0D

Ma00d0

Options :

5 .
7 hrs 2ﬁ minutes

5
? ﬁﬂ. 2—:).
1% 11
5 e
7 hrs 4 — minutes
11
7 ﬁo.4£_ .
5 % 11
5 .
7 hrs 3— minutes
12
5
T o.3— 2.
_ 12

5 .
7 hrs Sﬁ minutes

I~

T 86, 5—5,

4V 11



Question Number : 69 Question Id : 5494704929 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Date, Time and Arrangement Problems 38, ddano Sdaky wddse “mm“msw

Pointing to a woman. a man said “the son of her only brother is the brother of my wife”,

then the woman related to the man 1s

w8 ?3 D UFDRP W8 PERPE BT BT, B A0E), IFE A DArhHD T
o[ TEOAY. & AR & ) & o wogodio

Options :
Mother
59

1. %
Sister
s

2_ W

Mother-in-law

eadrT D

3_ W
Sister of father-in-law
S50 d J'ed

4,

Question Number : 70 Question Id : 5494704930 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Date, Time and Arrangement Problems 38, havabo HBatn wlbsY :{Jm'{o‘gw

A tram starts at scheduled time from Visakhapamam and is scheduled to reach
Secunderabad at 6.30 AM next day. That train arrived 13 minutes late to Rajahmundry
and 1t 1s late by another 42 minutes when it came to Vijayawada. Again it arrived
another 37 minutes late at Khammam. Fnally. 1f it covers 27 minutes of the late. The
time of arrival at Secunderabad station on the next day is

3?’&.‘!!}&3‘10 %ﬁrﬁ) A0 Dgej R200508° LOHLEBH 28 TL0 NolT RS fga}f.] £ %8
82 &csato 6:30 8 BBy Gold. & Dew Ta0E, 13 .00 BUROT BB, B0 B
DUADTEL DFE 42 .0 BV SD\oB. VO D)0 908 37 dew BURorP
SO, DT BURRD ddabedy 27 e SAedidid & Jw akd B

SodTrerd BeSH) Rdobe
Options :
6.45 AM
1. #
7.00 AM
2. %
7.35 AM
3.
8.05 AM
4. %

Question Number : 71 Question Id : 5494704931 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Date, Time and Arrangement Problems 38, Hdoho 8ok w05 ":omr\)sm

- Buses for Hyderabad leave every 45 minutes from Vijayawada. An announcement was
made at Vijayawada bus station that, bus-A to Hyderabad left 10 minutes late and the
next bus-B will leave, on time, at 5.10 PM. The time at which the bus-A left
Vijayawada 1s
QRODTE Aow) TETEPS D 2 45 .8 W W BN, BN, TETErd
£ w-A 10 dew ORorT QODNE0GN, S0 wd-B Arde Fofogo 5:10 & 2T
DO00S'D OLLLBHIY DRADTE BV JD O w8 YD Bobwdod. wI-A
QBODTE Aod LOHLBBM Rao

Options :

4.20 PM

4.30 PM

4.25 PM
4. %

Question Number : 72 Question Id : 5494704932 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Date, Time and Arrangement Problems 88, dayabo 80k @850 RDADR[RD

- Spersons A, B, C, D. E sit around a table facing the centre. A sits to the left of E. A

and C sit on either side of D. then the person to the right of B is

5 fdh g A B, C. D. E a8 (hogd ag thitir Somrdinpe™ rdnT 6. E &
Qe ‘QSGR‘} A SJ"GJQFAC.‘J. D &b SQSZTK) A Cw SJ‘GJJFO\LdJ. @@Dm B £ 6D

&) (8
Options:
A
1. %
C
2.
D
3., %
E
4. ®

Question Number : 73 Question Id : 5494704933 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Date, Time and Arrangement Problems 38, ddvano LBty wd%e “’mm*‘n}‘sw

If “ o "denotes —, * B "denotes *x, y 'denotes “+, 0 'denotes ', then
7Ty80652p(8ad) =

“ agAr, XA P SRr, 4 yERr Doan A § e ardly, @
7y80652p(8ad) =

Options :

LS )

Question Number : 74 Question Id : 5494704934 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Date, Time and Arrangement Problems 38, Hdoho HBaky wdse ”':om?o,sw

5 X+y
Forx,ye K define x*y=x+vy+xy and xpy=—=o .
' -y

then (7B35)*(13p11)=

) X4y
YyE LS x¥y=xty+ay ddaho ¥ y=—1 @R,
=y

oin® (15)*(13p1D)=

Options :

18
1. %

72
2. %

90
3. v

112
4, %

Question Number : 75 Question Id : 5494704935 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Date, Time and Arrangement Problems 38, Hadvabo oty wddse an“‘osw

. For mtegers a, b define a@ b=rand a @ b= s, where r and s are the remainders,
respectively when a + b and a . b are divided by 7. Then. 19 @ (25 0 40)=
T (a,b)vda+bddona. b7 6 arhodm Sy Fakren QDT §

L BONIY\E, @ D=1 200 a0 b =5 SR, oY\ 199 (250 40)=

Options :

2
1. %

4
2.

6
3. W

3
4, %

Communication Ability

Section Id : 54947071
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Mandatory or Optional : Mandatory
Number of Questions : 54
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Maximum Instruction Time : 0



Question Number : 76 Question Id : 5494704936 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Choose the correct meaning of the word given
Autonomous

Options:

Anarchic

Venomous

Self-governing
3. %

Dangerous

Question Number : 77 Question Id : 5494704937 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Choose the correct meaning of the word given
Hone

Options :

Perfect



Honor

Sharpen
3. ¥

Decelve
4. #

Question Number : 78 Question Id : 5494704938 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose the correct meaning of the word given

Ingenuous

Options :

Ingenious
1. %

Naive
2.¥

Inconvenient
3. %

Irritating
4. %

Question Number : 79 Question Id : 5494704939 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose the correct meaning of the word given

Denigrate
Options :
Denoting
Didactic
2. %
Degrade
3. %
Demanding
4. %

Question Number : 80 Question Id : 5494704940 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Choose the correct meaning of the word given
Travesty
Options :
Mockery

1.4

Derivative

Apt



Authentic

Question Number : 81 Question Id : 5494704941 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose the correct meaning of the word given

Embezzlement
Options:
Buzzling
1. %
Auctioning
2. %
Expending
3, #*
Misappropriation
4.

Question Number : 82 Question Id : 5494704942 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Choose the correct meaning of the word given

Cajole



Options :

Coax
1.4

Cox
2_ 4

Cordial
3_ 4

Cunning
4, %

Question Number : 83 Question Id : 5494704943 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Choose the correct meaning of the word given

Trying to analyze something by way of comparison is called a/an
Options :

apology

eulogy

elegy

analogy



Question Number : 84 Question Id : 5494704944 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose the correct meaning of the word given

Fiasco
Options :
Drama
’| e
Failure
2. %
Fraud
3. %
Stupidity
4, %

Question Number : 85 Question Id : 5494704945 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Choose the correct meaning of the word given
His popularity was such that his election turned out to be

Options :

anonyimous



unaninous

INnocuous

ridiculous

Question Number : 86 Question Id : 5494704946 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Choose the correct meaning of the word given

Select the correct meaning of the idiom given
Go the whole hog
Options :

Eat a lot

Behave very badly

2. ®

Enjoy one’s self a lot
3. %

Do something completely
4.

Question Number : 87 Question Id : 5494704947 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Fill in the blank by choosing the correct word given

After their dispute the two partners launched attacks against each other.
Options:
vituperative
1.
laudatory
2. %
sycophantic
3. %
ingratiating
4. %

Question Number : 88 Question Id : 5494704948 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Choose the correct meaning of the word given
Depose
Options :
Overthrow

1.4

Deposit



Upgrade

Deprive

Question Number : 89 Question Id : 5494704949 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Fill in the blank by choosing the correct word given

Lalith was given to that the job was his.
Options :
understand
1.4
apprehend
2. %
think
3. #
imagine
4. %

Question Number : 90 Question Id : 5494704950 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Fill in the blank by choosing the correct word given

The young man was being the only male in the play.
Options :
discredited
discomfited
2.9
adulterated
3. %
abdicated
4. %

Question Number : 91 Question Id : 5494704951 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Choose the appropriate answer

Any external device attached to a computer to enhance its operation is called a/an

Options :

peripheral
1.¢

platform
2. %

output



input

Question Number : 92 Question Id : 5494704952 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Choose the appropriate answer

Which of the following is not an operating system?

Options:
MS-WORD
1.+
LINUX
2. #
I0S
3. #
ANDROID
4. %

Question Number : 93 Question Id : 5494704953 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Fill in the blank by choosing an appropriate answer
The liability of shareholders of a company is limited to the

Options :



paid up value of shares

1. %

nomunal value of shares
2_ 4

extent of their private assets
3, %

accounts called up

Question Number : 94 Question Id : 5494704954 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Fill in the blank by choosing an appropriate answer

A device that can convert digital signal to analog signal is called

Options :

a packet
1. %

modem
2. %

switch
3, %

CUIsor

4, =



Question Number : 95 Question Id : 5494704955 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Choose the appropriate answer

Which one of the following is not a browser?
Options :

Google Drone

1. %

Google Chrome
2. %

Mozilla Firefox
3. %

Microsoft Edge
4. %

Question Number : 96 Question Id : 5494704956 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Choose the appropriate answer
What is the expansion of the acronym NASDAQ?
Options :
Net Asset Securities Drawn Against Quotations

1. %

National Association of Securities Dealers Automated Quotations
2. %



New Association of Securities Dealers and Quality

National Account of Security Deposit Asset Quality

Question Number : 97 Question Id : 5494704957 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Choose the appropriate answer

Stylus 15 a/an
Options :

computer language

computer code
2. ®

output device
3. %

mput device
4.

Question Number : 98 Question Id : 5494704958 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Fill in the blank by choosing an appropriate answer

A storage medium that retains its contents even in the absence of power is referred

as
Options :

volatile storage
1. %

non-volatile storage
2. ¢

RAM
3. %

Cache memory
4. %

Question Number : 99 Question Id : 5494704959 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Choose the appropriate answer
A piece of data from a website, stored within a web browser to be used at a later time
is called
Options :
cookies

1. %

alerts



1554 2Cs

mails

Question Number : 100 Question Id : 5494704960 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Choose the appropriate answer

The process of 1dentifying and removing errors from Computer Hardware 1s called

Options :

debunking
1. #

debugging
2. ¥

detracting
3. %

browsing
4. &

Question Number : 101 Question Id : 5494704961 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Fill in the blank by choosing an appropriate answer
A reward beyond basic pay is called a/an benefit.

Options :

fridge
1. %

fringe
2.9

avoidable benefit

undesirable

Question Number : 102 Question Id : 5494704962 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Fill in the blank by choosing an appropriate answer
is NOt an economic activity.
Options :

A student playing cricket
1.

A lawyer practicing law

A practicing doctor



A professional cricketer playing cricket

Question Number : 103 Question Id : 5494704963 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Choose the appropriate answer
A mouse is connected to

Options:

the serial port

1.+

LPT1 port
2. %

LPT2 port
3. %

the key board

Question Number : 104 Question Id : 5494704964 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Choose the appropriate answer

Which of the following is an extractive industry?

Options :



Forest cultivation

Cattle breeding
2. % ]

Hunting
3. %

Flour mills
4.

Question Number : 105 Question Id : 5494704965 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Choose the appropriate answer
“Cache” means

Options:

Cash-data storage area in a computer

1. %
A small data-memory storage area in a computer
2. %
Hard drive
3. %
Website



Question Number : 106 Question Id : 5494704966 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Fill in the blank by choosing the correct answer

It 1s necessary to that standards are maintained.
Options :
insure
influence
2. %
ensure
3.9
scold
4. %

Question Number : 107 Question Id : 5494704967 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Fill in the blank by choosing the correct answer

The budget 1s likely to be presented on February 26, two days ahead of the
date.
Options :

critical

conventional
2. %



suitable

convenient
4. ®

Question Number : 108 Question Id : 5494704968 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Fill in the blank by choosing the correct answer

pollution control measures are expensive, many industries hesitate to adopt

them.
Options:
Although
1. %
However
2. %
As
3. ¢
Despite
4, %

Question Number : 109 Question Id : 5494704969 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Fill in the blank by choosing the correct answer

‘One who neither does the work nor allows others to do it” is often described as a

dog the manger.
Options :
by
1.% )
of
2. %
with
3. %
n
4.

Question Number : 110 Question Id : 5494704970 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Fill in the blank by choosing the correct answer
When I entered the room. the actor smiled me as if she knew me.

Options :

at

(g

on



Question Number : 111 Question Id : 5494704971 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Choose the correct answer

Choose the option that 1s passive form of the given sentence.

The tennis ball hit Neeraj on the head.
Options:

Neeraj was being hit on the head by the tennis ball.

1. %
S v Neeraj was hit on the head by the tennis ball.

. The tennis ball was being hit by Neeraj.

' Neeraj had been hit on the head by the tennis ball.

Question Number : 112 Question Id : 5494704972 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Fill in the blank by choosing the correct answer

By now. they must have been fairly reconciled their lot.



Options :

by
1. % ™
o1l
2. %
to
3. %
upon
4, %

Question Number : 113 Question Id : 5494704973 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Fill in the blank by choosing the correct answer

In order to share the work, we agreed to carry the snacks for the picnic my

friend offered to bring the food items.

Options :
although
1.9
and
2. %
however
3. %
in spite



Question Number : 114 Question Id : 5494704974 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Choose the correct answer
Choose the option that 1s passive form of the given sentence.
Someone broke the window pane.

Options :

Someone broken the window pane.

The window pane had been broke by someone.
2. %

The window pane is broken by someone.
3. %

The window pane was broken by someone.
4.

Question Number : 115 Question Id : 5494704975 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Fill in the blank by choosing the correct answer

Last Sunday we saw a five elephant in the zoo.
Options :

years



year old

2.v

year
3. %

years old
4. %

Question Number : 116 Question Id : 5494704976 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Fill in the blank by choosing the correct answer

The corrupt official. together with his subordinates arrested.
Options :

WCIC

was

have

have been

Question Number : 117 Question Id : 5494704977 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Fill in the blank by choosing the correct answer

Although both Ravi and Latha have the same qualifications, Ravi commands
salary,
Options:

the highest

high
2. %

more high
3. %

a higher
4.

Question Number : 118 Question Id : 5494704978 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Choose the correct answer

A : The 1ssue has been debated with more heat than light.
B : Obsession clouds vision.

B means that deep involvement may sometimes our vision.

Options:

improve



blur

2. ¢

broaden
3_ w

promote
4. %

Question Number : 119 Question Id : 5494704979 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Fill in the blank by choosing the correct answer

The boy takes his mother.

Options :

after
1.¢

before
2. %

besides
3. %

beside
4. ®

Question Number : 120 Question Id : 5494704980 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Fill in the blank by choosing the correct answer

The days go so quickly.
Options :
by
1.¢
bye
2. %
for
3. %
(8]
4, ®

Question Number : 121 Question Id : 5494704981 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Choose the correct answer

The cricket match proved to be_a big draw.

The underlined phrase means
Options :

a keen contest

a huge attraction
2. ¥

a game of boredom



a lovely spectacle

Question Number : 122 Question Id : 5494704982 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Fill in the blank by choosing the correct answer

The sun at s1x this morning.
Options :
raised
1. %
rose
2. ¥
arose
3, #*
aroused
4. %

Question Number : 123 Question Id : 5494704983 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Fill in the blank by choosing the correct answer

The hosts were happy with our visit their home.

Options :



o1

in
2. %

of
3, %

fo
4, &

Question Number : 124 Question Id : 5494704984 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Fill in the blank by choosing the correct answer
Having been stung by the scorpion, he to his feet.

Options :

spring

springs

sprang

have sprung



Question Number : 125 Question Id : 5494704985 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Fill in the blank by choosing the correct answer

She was aware of what was happening outside.
Options :
hardly
1.4
hard
2. %
hardened
3. %
can
4. %

Question Id : 5494704986 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Question Numbers : (126 to 130)



Read the passage below and choose the correct answer for the questions from 126 to 130

The Indian Space Research Organization (ISRO) 1s the space agency of the Government
of India headquartered in the city of Bangalore. Its viston 1s to “hamess space technology for
national development while pursuing space science research and planetary exploration”. Formed
i 1969. ISRO superseded the erstwhile Indian National Committee for Space Research
(INCOSPAR) established m 1962 by the efforts of independent India’s first Prime Minister,
Jawaharlal Nehru. and his close aide and scientist Vikram Sarabhai. The establishment of ISRO
thus institutionalized space activities in India. It is managed by the Department of Space. which
reports to the Prime Minister of India.

ISRO built India’s first satellite, Aryabhatta, which was launched by the Soviet Union on
19% April, 1975. It was named after Mathematician Aryabhatta. In 1980, Rohini became the first
satellite to be placed n orbit by an Indian-made launch vehicle, SLV-3. ISRO subsequently
developed two other rockets: the Polar Satellite Launch Vehicle (PSLV) for launching satellites
into polar orbits and the Geosynchronous Satellite Launch Vehicle (GSLV) for placing satellites
into geostationary orbits. These rockets have launched numerous communication satellites and
earth observation satellites. Satellite navigation systems like GAGAN and IRNSS have been
deployed. In January 2014. ISRO successfully used an indigenous cryogenic engine in a GSLV-
D5 launch of the GSAT-14.

ISRO sent a lunar orbiter. Chandrayaan-1. on 22* October, 2008 and Mars orbiter. Mars
Orbiter Mission, on 5 November. 2013. which successfully entered Mars orbit on 24% September,
2014, while making India the first nation to succeed on its first attempt to Mars, and ISRO the
fourth space agency in the world as well as the first space agency in Asia to successtully reach
Mars orbit. On 18 June, 2016. ISRO successfully set a record with a launch of 20 satellites in a
single payload, one being a satellite from Google. On 15® February, 2017, ISRO launched 104
satellites in a single rocket (PSLV-C37) and created a world record. ISRO launched its heaviest
tocket. Geosynchronous Satellite Launch Vehicle-Mark IIT (GSLV-Mk III), on 5% June. 2017 and
placed a communications satellite GSAT-19 in orbit. With this launch. ISRO became capable of
launching 4 ton heavy satellites.

Sub questions
Question Number : 126 Question Id : 5494704987 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What 1s the meaning in the word, “harness” found in the first paragraph of the
passage?
Options :

bind and yoke together

1. %

experiment
2. %

authorize
3_ 4

distribute
4, %

Question Number : 127 Question Id : 5494704988 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In which year ISRO was established superseding Indian National Committee for

Space Research (INCOSPAR)?

Options :

1962
1. %

1977
2. %

1968



1969

Question Number : 128 Question Id : 5494704989 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

ISRO built its first satellite. Aryabhatta, and it was launched on 19® April, 1975

from the land of

Options :

USA

(Former) Soviet Union

2.

France
3_ 4

India
4, ®

Question Number : 129 Question Id : 5494704990 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
ISRO developed PSLVs and GSLVs for launching satellites of the categories of
Options :

Defence



Communication

2_ w

Earth observation
3, %

Both communication and Earth observation
4.

Question Number : 130 Question Id : 5494704991 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
ISRO launched 104 satellites in a single rocket (PSLV-C37) and it 1s regarded as

Options :

an Asia record

‘|. E

a SAARC record
2_ W

a World record
3. %

a G-7 record
4. ®

Question Id : 5494704992 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Question Numbers : (131 to 135)



Read the passage below and choose the correct answer for the questions from 131 to 135

The world's worst recorded food disaster occutred in 1943 in British-ruled India. Known
as the Bengal Famine, an estimated 4 mullion people died of hunger that vear in ¢astern India
(which included today’s Bangladesh). Initially. this catastrophe was attributed to an acute shortfall
in food production in the area. However, Indian economist Amartya Sen has established that while
food shortage was a contributor fo the problem, a more potent factor was the result of hysteria
related to World War I1. which made food supply a low priority for the British rulers.

When the British left India in 1947, India continued to be haunted by memories of the
Bengal Famine. It was therefore natural that food security was one of the main items on free India’s
agenda. This awarengss led, on the one hand, to the Green Revolution in India and, on the other,
legislative measures to ensure that busmessmen would never again be able to hoard food for
reasons of profit,

The Green Revolution, spreading over the pertod from 1967-68 o 1977-78. changed
India’s status from a food-deficient country to one of the world’s leading agricultural nations.
Until 1967 the government largely concentrated on expanding the farming areas. But the
population was growing at a much faster rate than food production. This called for an immediate
and drastic action to increase Vield. The action came i the form of the Green Revolution. The
term *Green Revolution” 1s a general one that 1s applied to successful agricultural expertments in
many developing countries,

India 1s one of the countries where it was most successfil.

Sub questions

Question Number : 131 Question Id : 5494704993 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
India was able to overcome its food deficiency problem in

Options :
1.



a period of ten years

a period of two years

2. %

the year 1967
3. %

the year 1947
4. %

Question Number : 132 Question Id : 5494704994 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Which of the following most appropriately completes the statement:
Amartya Sen feels that the famine occurred due to
A. Acute shortfall in food production
World War IT hysteria

B.
C. Low priority given to food supply
D.

Lack of legislative measures against hoarding
Options :

A&D

A&C
2.¢

B&C



C&D

Question Number : 133 Question Id : 5494704995 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A word used in the passage which means the same as ‘-an event which causes

great damage and suffering’ 1s

Options :
haunted
1. %
catastrophe
2.
hysteria
3, #*
potent
4. ®

Question Number : 134 Question Id : 5494704996 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

This passage 1s mainly about

Options :

the worst food disaster in the world
1. %



the cause of four million deaths in Bangladesh

2. ®

India’s successful implementation of Green Revolution
3. %

Amartya Sen’s analysis of the food shortage problem
4. %

Question Number : 135 Question Id : 5494704997 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Which of the following statement is NOT endorsed by the passage?
Options :
The famine in Bengal happened solely due to low food production

1. %

Both India and Bangladesh were affected by the famine.

2. ®
The British did not take adequate steps to address the problem.
3. %
After independence, India needed to look into the food security issue on a
priority basis.
4. %

Question Id : 5494704998 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

Question Numbers : (136 to 140)

Read the passage below and choose the correct answer for the questions from 136 to 140

“T Have a Dream” 1s a public speech delivered by American ctvil rights activists Martin
Luther King Jr. durmg the March on Washigton for Jobs and Freedom on August 28, 1963, in
which he calls for an end to racism in the United States and called for civil and economic rights.
Delivered to over 2.50,000 civil rights supporters from the steps of the Lincoln Memorial in
Washington. D.C.. the speech was a defining moment of the civil rights movement,

Beginning with a reference to the Emancipation Proclamation. which freed millions of
slaves in 1863. King observes that: “one hundred years later. the Negro still is not free”, Towards
the end of the speech. King departed from his prepared text for a partly improvised peroration on
the theme “T have a dream”, prompted by Mahalia Jackson's cry: “Tell them about the dream,
Martin!™ Tn this part of the speech, which most excited the listeners and has now become its most
famous, King described his dreams of freedom and equality arising from a land of slavery and
hatred. Jon Meacham writes that, “With a single phrase, Martin Luther King Jr. jotned Jefferson
and Lincoln in the ranks of men who've shaped modern America™. The speech was ranked the
top American speech of the 20% century in a 1999 poll of scholars of public address.

Sub questions

Question Number : 136 Question Id : 5494704999 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

To how many supporters was “T Have a Dream” delivered by Civil Rights Activist,

Martin Luther King J.?
Options :

2.15.000

1. %



2,25.000

1.50.000

2.50.000
4. &

Question Number : 137 Question Id : 5494705000 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What 1ssue does Martin Luther King's speech address?

Options :

Condemning of racism only

End to racism and plea for economic rights
2. %

Civil rights only
3. %

Advocating Civil War
4. %

Question Number : 138 Question Id : 5494705001 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What drives Martin Luther King to use the phrase: “T have a dream™?



Options :

He reads out the Emancipation Proclamation

1. &
He is prompted by Mahalia Jackson
2. &
. He is overwhelmed by the crowd
3.
Lincoln had asked him to give the speech
4, %

Question Number : 139 Question Id : 5494705002 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What 13 the meaning of the phrase “partly improvised” found in the last paragraph?
Options :

Partly creatively modified
1.4

Partly made important
2. ®

Partly added strength
3. %

Partly omitted
4, %



Question Number : 140 Question Id : 5494705003 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What is the basic reference for Martin Luther King's famed speech?
Options :

The Emancipation proclamation

1. %

An improvisation
2. %

A peroration
3. %

“I Have a Dream”
4. ®

Question Id : 5494705004 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Question Numbers : (141 to 145)



Read the passage below and choose the correct answer for the questions from 141 to 145

Carbon neutrality means having a balance between emitting carbon and absorbing carbon
from the atmosphere 0 carbon sinks. Removing carbon dioxide from the atmosphere and then
storing 1t s known as carbon sequestration. In order o achieve net zero emissions, all worldwide
greenhouse gas (GHG) emisstons will have to be counterbalanced by carbon sequestration.

Carbon sink 15 any system that absorbs more carbon than 1t emits. The matn natural carbon
sinks are soil. forests and oceans. Accordimg to estimates, natural sinks remove between 9.5 and
11 Gt of CO; per year. Annual global CO, emissions reached 38.0 Gt in 2019,

To date, no artificial carbon stnks are able to remove carbon from the atmosphere on the
necessary scale to fight global warming,

The carbon stored in natural sinks such as forests is released into the atmosphere through
forest fires. changes in land use or logging. This 15 why it is essential to reduce carbon emissions
i order to reach climate neutrality.

Sub questions

Question Number : 141 Question Id : 5494705005 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Carbon sequestration involves
Options:
releasing carbon into the atmosphere

1. %

storing greenhouse gases
2. %

removing carbon from the atmosphere and storing it
3.¥



removing carbon from the atmosphere

Question Number : 142 Question Id : 5494705006 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A carbon sink emits less carbon than it

Options :

releases

produces

absorbs
3. %

exudes

Question Number : 143 Question Id : 5494705007 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The world today sufficient carbon sinks to fight global warming

Options :

has

need not work towards creating



does not have
3. %

cannot financially afford

Question Number : 144 Question Id : 5494705008 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Reducing carbon emissions 1s important to

Options :
prevent logging
1. %
reach climate neutrality
2.9
avoid forest fires
3., %
grow forests
4. %

Question Number : 145 Question Id : 5494705009 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following 1s not an example of carbon sink?

Options :

1.4



The sky

Forest
2. %

Ocean
3_ W

Soil
4, ®

Mathematical Ability
Section Id : 54947072
Section Number: 3
Mandatory or Optional : Mandatory
Number of Questions : 55
Section Marks : 55
Enable Mark as Answered Mark for Review and
Yes

Clear Response:
Maximum Instruction Time: 0

Question Number : 146 Question Id : 5494705010 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability e905ieds .ﬁﬂafugéo

5 X+3
( [y 243 ) 2 2
If E — /'4‘ Jhen xhe=
\3 \ 32
x+3
7Y /243' 2 ;
= | = ) B, VPO X” =
V3J [1\[ 32} €90208, P\ X
Options :
225
1. %
49
2. ®
225
49
3.9
274
4, %

Question Number : 147 Question Id : 5494705011 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability 051iEe g0

&
5 (@3
If % =2%.2P then the quadratic equation for which o and p are the roots
(64)"-97-18
15
g.0N'.¢

e =2%.2" oo o sbato P arereor (DA 38 pdstno
{ e n

Options:

1. %
j -
x"—2x—3=0
2. o
2 -
s i A e S |
3. %
Z
¥~ =2x43=A_)
4, %

Question Number : 148 Question Id : 5494705012 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability o5l .S‘a)géo

The ratio of the present ages of a father and his son 15 7 : 1 and the difference i their
ages 15 36 years. The ratio of their ages m the same order when the son reaches 20

years of age 1S

w8 dol, WS DIFDY P DDA X]?’qhe} 7:1 bk 0 Db = 36

ROITD. & LATDD S0V 20 RoSHTTHYYE T8 S0V iy 98 300t

Options :

8:3
1. %

14:5
2.

14 : 3
3. %

7 i
4. %

Question Number : 149 Question Id : 5494705013 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability 0513 .ﬂvaﬁ)gao

If Sx=4y.then 3x:2y =
Sx =4y eand. 3x:2v=

Options :



|

Question Number : 150 Question Id : 5494705014 Display Question Number : Yes Is Question
Time: 0

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Arithmetical Ability

eooSic3cd S‘mgﬁn
1 2
JIR=0TE il 0dm
Options :
1
J8=2:15
4
1

8+ 24/15

N7 =210



1
«.f? - Zm

Question Number : 151 Question Id : 5494705015 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Arithmetical Ability 905 ieded .ﬂnsﬁ.\gﬁo

If x=9+45 . then x =

x=9+45 EIODRDINCED, Jap=

Options:
2+ 345
1. %
i
1+2+/5
2. %
3+ 2-\;'5
3_ e
2+ xf'?
4,

Question Number : 152 Question Id : 5494705016 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability 050ie3es .ﬁvmggo

-

The number of integers & that are divisible by 3 and satisfymg the inequality
~17<k<12 15
eRrdge —17 <k <12 8y D8RP, 3 & arfieted RFT0S°L) K ¥ Doa)

Options :

9
1. %

10
2. ¥

11
3. %

12
4. #

Question Number : 153 Question Id : 5494705017 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability 905 rieded f}“sﬁ)géu

The number of positive divisors of 11! is
111 € do & Tras~e R0y

Options :

11



180

3. ®

Question Number : 154 Question Id : 5494705018 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability 005ieed .ﬂvmgﬁo

Three persons A, B and C take 27, 36 and 45 seconds respectively to run around a
circular track. If all of them start at a point P on the track at the same time. after how
much time (in minutes) all of them meet again at P,

A B, C & 30 %0 48 HTT6 P totir DRSPS AT 27, 36, 45
2800 230080 SUDERG). & ADHE DE FWos’ & &P D 18 Do P 3¢ DD
ooty T S0 P 96 H6er S8 38 1 didodo (Wvirue’)

Options:

6
1. %

9
2. %

12



|—|.
L

Question Number : 155 Question Id : 5494705019 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Arithmetical Ability ©05(ied .ﬂﬂ.;fug‘so

The number of pairs of positive ntegers a and b with ged (a.0) =23 and
a+b=1841s
e (a,b) =23 Boswa +b = 184 wo&;}ggp God &% LTS 3, b g, 2y

::,oa::é

Options :

8
1. #

4
2. %

2
3.¢

1
4, ®

Question Number : 156 Question Id : 5494705020 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability e908ieded &mgﬁu

-

. 3 s
The decimal representation of —1s

22

3

1,

— 038, OF 0300
22 =

d

Options :
0.136
1. %
0.136
2,
0.136
3. %
0136
4, %

Question Number : 157 Question Id : 5494705021 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Arithmetical Ability e908tie3eh S“sﬁ)géo

2 5
[ ol SO, e 'f§+1(}£:E and (m, n)=1.then m—n=
36 9 12

n

2. .53 . 8 11 m B
17+4—+7—+107:— S08osw (m, n) =1 eand, L NARIESIE

3 6 9 12 n



Options :

875

1.4
862

2. ®
825

3. %
_ 784

4, %

Question Number : 158 Question Id : 5494705022 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability 905(63¢S .ﬂﬂaﬁ)gﬁo

If a,.0,.a;and ay 15 the decreasing order of the elements in the set

Options :

~1| 2



56
2. %
51
.56
3. %
19
51
4.

Question Number : 159 Question Id : 5494705023 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability 0513 .ﬂvaﬁ)gﬁo

The smallest fraction among the following fractions is
2346

21T

Options :

=
)

11

N
A
O [ b2



it ;
L.u|4-‘

1| o

Question Number : 160 Question Id : 5494705024 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability osicach a»mgﬁo

The total number of students in a class with 88 girls and the remaining 45% boys 1s
88 2006 erdgen, OAB 457% 2008 erend &) w8 361 6 bm“[ggav o2

Options:

120
1. %

130
2. %

150
3. %

160
4. &

Question Number : 161 Question Id : 5494705025 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability @908 (1£3¢h .ﬁv;ﬁ)gﬁu

If 30% of x is equal to 24 more than 15% of 120. then 25% of x 15

X & 30%, 120 &° 15% Sot) 24 5 DS, )\ ¥ & 25%

Options :

25
1. %

35
2. ¢

27
3., %

26
4. %

Question Number : 162 Question Id : 5494705026 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability W05HieId #mgﬁo

The cost price of an item 1 Rs.360/- and its marked price is Rs. 480/-. The discount

percentage that can be given on if to earn a profit of 25% 15

w8 DY Sbtl 2V 6r.360/- LBk T PG dv Er.480/-. TR 257 erdo
HoarBotitrad *&oﬁsﬁaﬁ dﬂ‘%oﬁ Tdo

Options :



|

Ill'_
2. % "

6L

4
3. %

5
4. %

Question Number : 163 Question Id : 5494705027 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Arithmetical Ability 905(iedeh ‘%‘mgﬁo

The cost price (in Rs.) of the 1tem, which is sold at Rs. 189/ for a profit of 12=%1s

e | —

13;% rird 6. 189 © S oS a8 SR e, §3) do (el )

-

Options :

178
1. %

168
2. ¥

154

3. %



148

Question Number : 164 Question Id : 5494705028 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Arithmetical Ability WosiRe S‘mgao

th
In a partnership, A mvests 50% of the capital for i of the time, B invests 20% of the

capital for = of the time and C mvests 30% of the capital for the whole time. If the

-

share of A in the end profit is Rs.12.5 lakhs then the total profit (in lakhs of rupees) is

w8 EPirGe & A &9 (8 Jde Diwd & 507 & i 3 Hodd Mvako ¥V, B &9

l s
38 Ando dtvex & 207 & S & dodhy Rale Jew, C o 38 wdo w6

30% & Qrd Ao T Gotr. FIT S Pl A TP 6r.12.5 VLGS, 2do

oZo (V5 670 &)

Options:

25
1. %

37.5
2. %

50
3 %



52.5

Question Number : 165 Question Id : 5494705029 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability 05(ie3es bm%u

A and B started a business investing Rs. 3.5 and Rs. 6.5 lakhs respectively. After six
months B withdrew from the business while C joined it at that time mvesting Rs. 7.5
lakhs. In the year-end profit of Rs 2.4 lakhs the share of A (in rupees) is

A, B e 3603 6r.3.5 v 200k 6r.6.5 v ::x%anmdg ;1"53%5.3 TGodotrd). et

v SHTA B o dvoc, 38T C 03 38 6r.7.5 050 Dhorid ed d0ked

es avzgancoas" B0, RoddyTrod erglo 6r.2.4 vEVS A TEr (6rll0 &)

Options :

60.000
1. %

80.000
2.9

76.000
3. %

1.60.000
4. ®

Question Number : 166 Question Id : 5494705030 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability RGN Sﬂ.:ugéo

Two pipes P and Q can fill an empty tank mdividually m 18 minutes and 24 minutes
respectively. Both are opened at a time and after sometime Q 15 closed and P 1s
continued to fill the tank. If the tank 15 full in 12 minutes then the time (in minutes) for
which the pipe Q is opened is

Ood w0 P, Q w0 a8 gr9 §87 DA Seowrr 18 ddwdren, 24 Adwird'
Qo)ToD. Tt PDYVR 8 SvosS” DG §od DY dord Q D 2rads, 88
otidd) P E3Ffoerdd. S 12 Iy’ ocid, R Q 20 86D Godd Fw0 (I |

0’ )

Options :

9
1. %

8
2. ¢

7
3., %

6
4, %

Question Number : 167 Question Id : 5494705031 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability 905(iedd b‘;ﬁ)ggo

Two taps A and B can fill an empty tank in 12 hours and 8 hours respectively while C
can empty the full tank i 6 hours. If all the three taps are opened simultaneously then

the time (in hours) 1 which the empty tank gets filled 1s

w89 S eéﬁ) A, B 93 D000 SERT DEDAT 12 fotie, 8 fotiwes” doardendr, C e
263 Aoty S 6 otrd” ar? Badrivd. & Wrdd Do DS SV’ 303 & I
a3 B;J' QoS 'f.}é,;} D000 (ﬁoﬂéﬁ )

Options :

10
1. %

12
2. %

18
3. %

24
4.

Question Number : 168 Question Id : 5494705032 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability ©05(ieed .ﬂvmgﬁu

Ifa train moving at a speed of 36 meters per second passes a person riding on a bicycle
in the opposite direction at 4 meters per second i 10 seconds. then the length of that

train (in meters) 1s

RSR0% 36 Qotig Sriod ¢ e, T Aot BIS° IS p DS 4 e Srfo & I8
289, 10 2836 reBhd & gen T (oee’)

Options :

320
1. %

360
2. %

400
3. ¢

144
4. ®

Question Number : 169 Question Id : 5494705033 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability ©05/e3es Sﬂm&so

A person travels from P to Q by a car at a speed of 75 kmph and returns from Q to P
reducing the speed by 25 kmph. If the total time taken for the entire journey is 3 hours

then the distance between P and Q (in km) 15

08 318 P ool Q 565 o 75 8.0, Srfod 8 626" 29) e posrmes’ Q od
P 3 flotath 25 8.0, 80D Stiod Sy, 70 HOITES D iko0ko 3 AobiTd P,
Q& S| drdo (8.2, 0&)

Options:
100
1. %
90
2.9
75
3. %
80
4, %

Question Number : 170 Question Id : 5494705034 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability Wos5iiedd &mgﬁo

Two persons X and Y can together complete a piece of work in 8 days: Y and Z
together complete the same work m 12 days. If X.Y and Z together work and can
complete the same work in 6 days, then the number of days needed for Y alone to

complete the work is

266 Hyoen X, Y e 9% 28 DA 8 B, 0B DAY, Z ew 59 12 Brd'so pd
dobded. X, Y, Zw ;’.mg}d? €D HABN 3 HA 6 Bﬁwejﬁ o BoidAd, Y &S&é &5
DA 78 BowErAS w5060 Berw Vo

Options :

36
1. %

30
2. %

24
3.¢¥

18
4, ®

Question Number : 171 Question Id : 5494705035 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability ©05iEdes .3“:»&50

P. Q and R can complete a piece of work mdependently in 15 hours, 12 hours and 10
hours respectively. P and Q started the work and after 4 hours R jomed them to
complete the work. The time (in minutes) R worked is

P, Q, R a0 &8 592 DADAM Swre 15 robiew, 12620, 10 ok D:300H08" 70
Bobriod. P, Q e & 53 Fdedods 4 fotw dhad 788 R ¢ & 53 70 S,

R 59 5% p&0e (D11 0 &)

Options :

60
1. %

73
2. #

90
3 %

96
4.

Question Number : 172 Question Id : 5494705036 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Arithmetical Ability e08ieded %umgﬁo

The area (in sq. cm) of a regular hexagon with each side of 6 cm 1s

29 Zhao 6 0.0, $9D w8 §2 HEHE PTO (1. 20.20. ©F°)

Options :



1. %

1843
2_%-5

363
3. %

54413
4, &

Question Number : 173 Question Id : 5494705037 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability @o8iedd S‘mgéo

The area of a rectangular metal sheet s 60 sq.m. The sum of its length and a diagonal

is equal to 5 times 1ts breadth. The circumference of the metallic sheet (in meters) s

28 88 ST 8P B PTvfo 60 WD, T Terd) Sodaty 8 DSTAw s,
200 & T% deey © 5 080, & &'y 8% ten§ed (ves )

Options :
65
1. %
35



44

b
ol

Question Number : 174 Question Id : 5494705038 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability o4iied &mgﬁu

The number of bricks with dimensions 20 cm x 10 cm x 7.5 cm required to build a wall

of dimension 24 mx4mx025mis

20 0.8 X 10 20.2). X 7.5 20.2. Soden do 9twsd 24 &, x 4 . x 0.25 . Seden

i) HER SIS SO0 AL Vo

Options :

24000
1. %

20000
2. %

16000

3. ¢

12000



Question Number : 175 Question Id : 5494705039 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Arithmetical Ability 05(ieded .3‘:0850

An ol storage tank 1 in the shape of a cone of radius 6 meters and height 9 meters
surmounted on a cylinder of height 3 meters. The volume (in cubic meters) of the oil
that can be stored in the tank 1s

8 B0 &0 DX B8 oS, 6 WG TFGo, 9 QoY Ao (o 28 Fotiid 3 g
AR) Arop Bt B50ed God. & Erjos & Judodriy sowd W8I

(0.2, 0&°)

Options :

216w
1.¢

162«
2. %

108 &t
3. %

SMn
4. %

Question Number : 176 Question Id : 5494705040 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability 051638 .ﬂvmgﬁo

For a solid circular cylinder let ¢ and ¢ respectively denote 1ts curved surface area and

total surface area. If ¢ : 1= 1: 2 and ¢ = 616 square units then the volume (in cubic

, 9,
units) of the cylinder is (take 7= %)
/

w8 AL AP ¢ [ IOV T g b DTV(o, VoFSY JTU)

‘&Pﬁ)‘@;}“ﬁloﬁ)m?od. c:f=1:2 200000 1= 616 SE) Aty ond, & ArdY)

2
W0BATR0 (2. ardE’) (1= ; ™ Sl )

Options :

Question Number : 177 Question Id : 5494705041 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arithmetical Ability Wosiee &mgﬁo

The number of revolutions made by a wheel of diameter 2.8 meters to cover a distance

of 660 meters 1s

2.8 0§ TR0 (10 8 o 660 otxs (red) pairelotscdS B DEFETL Roaf

Options :

50
1. %

75
2.

90
3. %

100
4, ®

Question Number : 178 Question Id : 5494705042 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability 05(ie3es &mgéo

If a metallic solid cylinder of radius 6 inches and height 64 mches is melted and cast

in the form a sold sphere, then the surface area of that sphere (in 5q. inches) 1s

6 evorhwre) J"éﬁ“go 08050 64 ove I (0 28 B R APy $6ol) 28 0%

figiore T8I 0yt & five ag) 6083w dTulo (¢ 1l Bobved)

Options :



1. %

376 T
2. %

584 n
3. %

625
4, #

Question Number : 179 Question Id : 5494705043 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Arithmetical Ability 905MEde .ﬂvmgéo

If m divides a — b, then we write @ = b (mod m). Then the correct statement among the
following is
a-bJmerfy a=b (modm) o oFaw. ey 8o T HOGEHI PHto

Options:

215 =4 (mod 7)

1. %

2V =3 (mod 7)
2. %

2% =2 (mod 7)
3. ®



2#*=1 (mod 7)

Question Number : 180 Question Id : 5494705044 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Arithmetical Ability evo5iicdeh Qﬂsﬁ)g{'o

The digit in units place of 7% is

7 a0g), 258 0’ o8

Options :

6
1. %

T
2.

3
3. %

5
4., =

Question Number : 181 Question Id : 5494705045 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Algebraic and Geometrical Ability Datieie Bakn Sarticded bm&so

The contradiction. among the following when p . ¢ are two statements is
P - q o0 Botd DISTTIDE, $08 TS oo
Options :

(~q)Ap

1. %

pAgna((~p)v(~q))

2. %

@vaqg)v(p)
3., %

p=q
4. ®

Question Number : 182 Question Id : 5494705046 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Algebraic and Geometrical Ability Dl Bat Farricde 5‘63850

Let 17 and © denote the set of all natural numbers and the set of all infegers

. 210 i — n n-1 :
respectively. The function £ 17— 7 defined by f(n)= 507~ {T] . accordmeg as n

— -

is even or odd, 13

1T, 7 00 S8R0 29292 RoaF[oidd, FTese RBw RrOFaREol. H3ake |-
P — n n-1

11— 2 Q 11 28Rosf S E0r03] Band)yE SR f(n) = - g - (T) m

DB, By & PArado

Options :

injection only

(S0 G
1. %
surjection only
Rofive ardD
2. %
bijection only
28 B ies PDocko
3. ¢
neither an injection nor a surjection
IS0 STE ot S
4, %

Question Number : 183 Question Id : 5494705047 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Algebraic and Geometrical Ability Daticde bakn Farticds i)“a‘.ugﬁo

The equation of the line which is perpendicular to the line L, and passing through the
; 5 P s - 1 l .
point (1, 1) where L is the line making intercepts i and : respectively on the x -

axis and y - ax1s, 13

11
X- ©&0, §- 850 0 O™ E 5 29086 VoLV B AGFE L 800, L § wotlorr

éotar Do) (1, 1) Ao eih H6UBLr HeDEGE0

Options :

x + 5y =1
1. %

4x—3y=1
2. %

x—4y=1
3.

Sx+4y=1
4, %

Question Number : 184 Question Id : 5494705048 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Algebraic and Geometrical Ability Datiels batn Farticde 3‘653850

cos B cos 6

3 =
secO-1 secH+1



Options :

2¢cotH
2tan 6
2. 4
g
2cot™ 0
3. v
2tan %6
4. %

Question Number : 185 Question Id : 5494705049 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Algebraic and Geometrical Ability Datieed Bako Jarrce &mgao

=

The ordered pair (ct.B)such that the polynomial x*+ax® +Bx” ~12x+16 has the

; , 7 ; ;
quadratic expression x~ +x—2as a factor is
7 7
wend ¥ tar + Bro-12x+16 8, 36d8rRe X7 +x-1 w8 TomreslabyT

&oli 8 adwrfjo (o,f)

Options :

(3.8)



Question Number : 186 Question Id : 5494705050 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Algebraic and Geometrical Ability Daticde SoBotn Fartiedd 3"&53860
The angles of elevation of the top of a tower and the top of a flagstaff on it are observed

to be 30° and 60° respectively from a point P on the level ground 200 meters away

from the foot of the tower. Then the length of the flagstaff (in meters) is

208 Fi)00 3o 00d 200 DS Grdod” $3ap (o Dorkasd) P ol M, &
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Algebraic and Geometrical Ability aricid S08okw articde 5)";53850

If @< ay <ay < <agare nine arithmetic means between 5 and 65 then a, =

(<) <3<+ <y 3D 5, 65 © NG| L T O LoSE[ETL) LS VYYD
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Algebraic and Geometrical Ability Datiedes SoBakw Farticded &mgﬁo

(W3-1°+(3+1)°=
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Algebraic and Geometrical Ability Datiele Sbat Farticde 3":.13850
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Algebraic and Geometrical Ability Daed Sdakn Farricis E)‘*mgﬁo

Giventhat A (2.2).B(6.1)and C (7, 3) are the vertices of a triangle, the length of
the median through A 15
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Statistical Ability Hierod &mgﬁo

The arithmetic mean of the distribution given below is
S0t WD DR Wos S0G{00

x 1 |2 4 6 7
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Statistical Ability  (itos hvmgﬁu

The arithmetic mean of the squares of the first » natural numbers 1s
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Statistical Ability ~ tiewPo% S‘mgso

For n = 1, let ;=1 where r is the remamder when » 1s divided by 7 (for instance, xp4=
3 since 24 leaves rematnder 3 when divided by 7). The mode of the observations

X5 X0 X115 X13 - Xi6: X021 . X235 X725 15
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Statistical Ability ~ fiewos #mgﬂsn

If the mean and the mode of a data are 15 and 21 respectively then the median of the

data 15

w8 BT TS 06300, EPAFVFSE Q0 SERIM 15, 21 0and o) Ldiide
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10 10
If X;.X, . X;pare marks obtained by a student such that ) v, =%0and )’ X7 =900
i=1 i=l
. then the variance of this data is
10 10
D 5 =90 2800 er =900 eobirorT X;.X). Xy @ w8 P Todd
i=1 i=] i
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The standard deviation of the scores

204,208 .212,216,220.224 .228 is
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Statistical Ability Heos ‘3‘5.‘1.‘1850

The inequality satisfied by the correlation coefficient 7 1s
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Statistical Ability  tiewPo¥ .3"&‘)3850

If two unbiased 6 faced dice are thrown simultaneously then the probability they show

up distinct numbers 1s
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Statistical Ability  titPos 3":13850

A bag contains 4 green. 6 red and 7 white balls. If a ball is drawn at random from this

bag then the probability that it s either green ot red 13

28 Ponds’ 4 B0\, 6 8D, 7 89 wodorn &) AN & AR oimgat‘)son"
ERERARE DD\G T 6 k] Rord(d

Options :
&
17
1. %
6
5 % 17
£
17
3., %
E
17



Question Number : 200 Question Id : 5494705064 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Statistical Ability  fitPos &mgﬁo

A person gets Rs. 100 if a head turns up and loses Rs. 50 if a tail turns up when an
unbiased com s tossed. If three unbiased comns are tossed simultaneously then the

probability that the person neither gams nor loses 1s
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